Oelve Lor x.:
7- 2(5%-2) = -9



Oelve Lor x.:

A%~ 2= |4 +5x



Oelve Lor x.:

F(x-3)+3=5x%x-22



Oelve Lor x.:

5+3% = 7 (xt32)



Oelve Lor x.:
Tx +H4 =15-4x



Oelve Lor x.:

A(2x-1)-% =3



Oelve Lor x.:

%x—2=3



Oelve Lor x.:

A +5x+44-x = Bl



Oelve Lor x.:

“A0X +(5 = A(1-3X) +1|



Oelve Lor x.:

4 (ax+3)=-3x+34



find the slope between e
‘(“ol\mdrg Ponts :

47 (-6,74%)



find +he slope betwieen the
‘(-'ol\owi!g Ponts :

(a3) (15,3)



find +he slope betwieen the
‘(-'ol\owi!g Ponts :

(6:-30) (5| 3)



find +he slope betwieen the
‘(-'ol\owi!g Ponts :

(43) (14,17)



find +he slope betwieen the
‘(-'ol\owi!g Ponts :

(3,7) (4,10)



|9 this data \wnear 7
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|9 this dada \near ¢

X

<L

|0

1%

23



|9 this dada \near ¢

W

U

|0

|12



Which is +he corvect woy 4o
gfoqh e following darta 7

Arount of Cat Tood  Eoden

los s e
of of | .

foed dood | e

o cals o cats



Which {5 +he coxvect woy 4o
gfoph e following data 7

'BreaKivB Nelgﬂ' of ﬁ\dqc 390\05

\ 1
preok per | .
(os) (es)| * .

Lenotof Lenathof
ny?m Span ny?w opan




Which is+he coxvect woy 4o
oyoph e —(b\lmir_la data 7

Tetal Tires in a ?amfg Lol

(assumi@ only cars park)
B of ¥ of o
X el e”







